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 qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 15 \¥²y¾ h²¾ & 
 \of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc 
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 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q ¥̀R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed 
\of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc 
²¾hs qdIVJy & 

 Please check that this question paper contains 15 printed pages. 
 Q.P. Code given on the right hand side of the question paper should be written 

on the title page of the answer-book by the candidate. 
 Please check that this question paper contains 39 questions. 
 Please write down the serial number of the question in the answer-book 

before attempting it. 
 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

qeqJAp²¾¾  
 (\¥Op^r EdXp) 
SCIENCE 

(Punjabi Version) 
g`p£ gr`p£ : 3 K¥Ry  \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 

41/C/2 

* 

^ 
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:

  : 
(i) 39 

(ii) 

(iii)   1 20 
1  

(iv)   21 26 
2 30 50 

(v)   27 33 
3 50 80 

(vi)   34 36 
5 80 120 

(vii)   37 39 3 /

(viii)

I¥T H 

20 1  20
20 1=20 

1. 2 g \rdy gd³c \pFTc ²¥¾v qHgy MpqB²¾p qTf qeM gpqmAp qJAp AWy qBg 
qeM~ q²¾Hdy ZvBy ²¥¾v qBH \cI²¾dr qeM qBH§S¾p HrWp qJAp & qBg \cI²¾dr 
qeM \pVr (Od) \pqBAp qJAp AWy qBg Wcp£ ^Vy K}d Yp q²¾crIV eI}-eI 
cv\ qeM ²¾rdy AWy dpd qdR`g \y\cp£ ²¾pd HrWp qJAp & ghr qeHd\ MtV} : 
(a) ²¾rdp qdR`g ²¾rdp cqh¥Yp h± AWy dpd qdR`g ²¾rdp h} Op£Yp h± & 
(b) ²¾rdp qdR`g dpd h} Op£Yp h± AWy dpd qdR`g dpd hr cqh¥Yp h± & 
(c) ²¾rdp qdR`g dpd h} Op£Yp h± AWy dpd qdR`g ²¾rdp h} Op£Yp h± & 
(d) ²¾rdp qdR`g ²¾rdp hr cqh¥Yp h± AWy dpd qdR`g dpd hr cqh¥Yp  

h± & 
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2. Wtgs \pVr Yr HS}¾cWp Yp q²¾crIV Hc²¾p Mpht¥Yy h}, \c WthpTr \oa}Jfpdp 
qeM HS}¾c \pVr E\d^Z ²¾hs h± & hyS¾ qdqIAp£ qeM~ qHhmy a¡qJHp£ ²¥¾v ft§Z 
\pVr qeM K}d Hy \pVr ²¥¾v HS}¾c ^VpqBAp Op gHYp h± ? 

(i) g}qTA` Yp hpqBTc}O²¾ Hpc^}²y¾R 

(ii) `±Jq²¾qfA` Yp gd³yR 

(iii) H±dqfA` Yp Hd}cpBrT 

(iv) g}qTA` Yp Hpc^}²y¾R 

(a) (i) AWy (ii) 

(b) (ii) AWy (iii) 
(c) (iii) AWy (iv) 

(d) (i) AWy (iv) 

3. \pVr Oy q^Od-A\KR²¾ qeM By²}¾T E\c qB§HS¾r h}Br J±g Yp Yoe`p²¾ ma 
AWy H±X}T E\c qBH§S¾r h}Br J±g Yp Yoe`p²¾ mc h±, Wp£ (mc/ma) Yp `p²¾ 
h}eyJp : 

(a) 8  (b) 16 

(c) 
16
1

  (d) 
8
1

 

4. hyS¾ qYWy h}By \YpcXp£ ^pcy qeMpc Hc} : 

(i) A±qgqTH K2Cr2O7 

(ii) Ipcr KMnO4 

(iii) ApHgrO²¾ 

(iv) hpqBTo}O²¾ 

qB²¾ªp£ qeM~ Ap`W¡c Wy ecW~ qeM qdApBy OpV epdy ApHgrHpcH (E\MpBr 
ByOzR) h²¾ : 

(a) qgc³ (i) AWy (ii) 

(b) qgc³ (ii) AWy (iii) 
(c) (i), (ii) AWy (iii) 

(d) (i), (ii) AWy (iv) 
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5. Eh ZpW qHhmr h± qOhmr hXydr E\c cIV Wy q\Kd Op£Yr h± ?  

(a) g}qTA` (b) \}RpqfA` 

(c) drqXA` (d) J±drA` 

6. hyS¾ qdqIAp£ qeM~ Eg a¡qJH ²¥¾v MtV} qOhmp IpcH (base)  h± : 

(a) g}qTA` hpqBTopHgpqBT 

(b) H±dqfA` hpqBTopHgpqBT 

(c) g}qTA` gd³yR 

(d) qk¥H ApHgpqBT 

7. OY~ qHgy q^¥̂  ²¥¾v qHgy E¨Wd d±̈ ²¾k Yy gph`Vy 2F W~ Yvc cqIAp Op£Yp h±, 
Wp£ ^V²¾ epdy \oqWq^¥̂  Yr \oqHcWr Hr ht¥Yr h± ? 

(a) epgWqeH, EdRp, gpBrk qeM q ¥̂^ W~ N}Rp 

(b) epgWqeH, qg§Zp, gpBrk qeM q^¥̂  W~ e§Tp 

(c) Ap_pgr, qg§Zp, gpBrk qeM q^¥̂  W~ e§Tp 

(d) epgWqeH, EdRp, gpBrk qeM q ¥̂^ W~ e§Tp 

8. OY~ g³±Y \oHpf Yp H}Br ^crH \t¥O (d§S¾) qHgy H§M Yy q\ok` qeM~ JtkcYp 
h±, Wp£ Eh Aeaer (_pJ) c¥Jp£ qeM e¥qTAp Op£Yp h± & qBg \qcKR²¾p ²¥¾v 
Hqh¥Yy h²¾ : 

(a) \oHpf Yp qegcV (\ogpc²¾) 

(b) \oHpf Yp \vc²¾ \cpecW²¾ 

(c) \oHpf Yp \oHrcV²¾ 

(d) \oHpf Yp qeIy\V 

9. q^Od Wp\²¾ OtJWp£ Yy Wp\²¾ W§W ^²¾pEV Yy dBr ecWy OpV epdy \YpcX  
Yr : 

(a) \oqWc}ZHWp E¨Mr AWy Jd²¾p£H (q\KdVA¥H) E¨Mp h}Vp MphrYp h± & 

(b) \oqWc}ZHWp E¨Mr AWy Jd²¾p£H X}mp h}Vp MphrYp h± & 

(c) \oqWc}ZHWp X}mr AWy Jd²¾p£H E¨Mp h}Vp MphrYp h± & 

(d) \oqWc}ZHWp X}mr AWy Jd²¾p£H er X}mp h}Vp MphrYp h± & 
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10. qHgy Wpc Yp \oqWc}Z hyS¾ qdqIAp£ qeM~ qHg E\c q²¾c_c  HcYp h± ? 
(a) Wpc Yr d¥̂ pBr 
(b) Wpc Yr A²¾®\ogX HpR (npg gyHf²¾) Yp IyWc³d 
(c) Wpc Yr ApqHcWr 
(d) Wpc Yp \YpcX 

11. qBH} Ohy \qc`pV Yp Hc¥R \oeph Hc²¾ Wy (i) qHgy \qc²¾pqdHp (g}dy²}¾qBT) Yy 
A¥Yc AWy (ii) qHgy qg§Zy MpdH Yy Mpc~ \pgy \±Yp h}By Mt¥^Hr IyWcp£ YrAp£ 
ApqnWrAp£ Hc`epc ht¥YrAp£ h²¾ : 
(a) (i) qg§Zr, (ii) M§HcpHpc 
(b) (i) M§HcpHpc, (ii) M§HcpHpc 
(c) (i) qg§Zr, (ii) qg§Zr 
(d) (i) M§HcpHpc, (ii) qg§Zr 

12. hyS¾ qY§Wp qJAp Hpc^²¾ Yp qHhmp qBH JtV Hpc^²¾ Yy ^htW qOApYp qJVWr 
qeM a¡qJH ^²¾pV Yy dBr Ot̀ yepc   h± ?  
(a) Mpc g¥a}OHWp (eydzgr)  
(b) g`peaeWp 
(c) A\ccv\Wp 
(d) dmr ¥̂Z²¾ 

13. qHgy H}qfHp (g±¨d) Yy H}qfHp Yoe qeM ApHgrO²¾ Orer AWy ApHgrO²¾ 
cqhW Orer Y}ey gph qHqcApep£ qeM JdvH}k Yy qeI¥T²¾ Yy ftcv qeM qHhmp 
AVt \±Yp ht¥Yp h± ? 
(a) d±HqRH A±qgT (b) ByXy²¾p§d 
(c) Hpc^²¾ TpqBApHgpqBT (d) \pqBcveyR 

14. qY²¾ Yy `tHp^dy qeM qHgy \¡Yy (^vRy) cphs cpW Yy g`z H§Ur OpV epdr 
Hpc^²¾ TpqBApHgpqBT Yr `pWcp eZrH h}V Yp Hpc²¾ qBh h± qH : 
(a) qY²¾ Yy g`z qBh \±Yp ²¾hs ht¥Yr h± & 
(b) qY²¾ Yy g`z qBh \§WrAp£ qeM O`p£ cqh¥Yr h± & 
(c) qY²¾ Yy g`z \±Yp Hpc^²¾ TpqBApHgpBrT Yr eZycy `pWcp  

\oHpf-g¥fdygV (³}R}qg¥Xyqgg) qeM ecWr Op£Yr h± & 
(d) \¡Yy qY²¾ Yy g`z gph ²¾hs d|Yy & 
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15. Eh Ore qOg qeM OV²¾ HpqBAp qeM H}Br E_pc \±Yp h} Hy ²¾ep£ Ore ^V 
Op£Yp h±, qHhmp h± ? 

(a) A`r^p (b) \±cp`rqfA` 
(c) cpqBk}\g (d) argR 

16. `Rc Yy ftZ d¥̂ y \¡qYAp£ (TT) AWy `Rc Yy ftZ ^}Vy \¡qYAp£ (tt) Yy qHgy 
Y}Jdp Hc²¾ (g¥HcV) qeM F1 g¥Wp²¾ \op\W gpcy \¡Yy d¥̂ y g²¾ & OY~ F1 \rmªr 
Yy \¡qYAp£ Yp ge±\cpJV HcpqBAp qJAp, Wp£ F2 \rmªr qeM \op\W \¡qYAp£ Yp 
Or²¾-g¥a}O²¾ h}eyJp :¾ 

(a) TT : Tt : tt (b) TT : tt 

(c) Tt : tt (d) TT : Tt 

17 20

(A) (R)

(a), (b), (c) (d)  

(a) qYomHX²¾ (A) AWy Hpc²¾ (R) Y}²~¾ ghr h²¾ AWy Hpc²¾ (R),  
qYomHX²¾ (A) Yr ghr qeApqIAp HcYp h± & 

(b) qYomHX²¾¾ (A) AWy Hpc²¾ (R) Y}²~¾ ghr h²¾, \c Hpc²¾ (R),  
qYomHX²¾¾ (A) Yr ghr qeApqIAp  HcYp h± & 

(c) qYomHX²¾¾ (A) ghr h±, \c Hpc²¾ (R) JdW h± & 

(d) qYomHX²¾¾ (A) JdW h±, \c Hpc²¾ (R) ghr h± & 

17. (A) : MnO2 + 4HCl  MnCl2 + 2H2O + Cl2  qBH cyTpHg 
\oqWqHqcAp h± & 

 (R) :  qBg \oqWqHqcAp qeM HCl Yp Cl2 qeM E\Ma²¾ 
(ApHgrHc²¾) AWy MnO2 Yp MnCl2 qeM A\Ma²¾ 
(reaction) ht¥Yp h± & 

18. (A) : ³dp£ AWy ^rOp£ ecJy qW§Iy H}qfHp qe_pO²¾ epdy IyWcp£ qeM 
gpqBR}HpqBq²¾²¾ eZycy HzYqcW ht¥Yy h²¾ & 

 (R) :  gpqBR}HpqBq²¾²¾ H}qfHp qe_pO²¾ qeM ghpBr ht¥Yy h²¾ & 
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19. (A) : `sh (ecIp) Yr ³thpc W~ q\N~ Ag`p²¾ Wy \oWrW h}V epdp 
qB¥YcZ²¾®f (gWc¥Jr \sK) g³yY \oHpf Yp qnqWo` g\yHRo` 
ht¥Yp h± & 

 (R) :  \pVr YrAp£ gvI` (`hr²¾) ^t¥Yp£ N}Ry q\ok`p£ ep£J H¥̀  
HcYrAp£ h²¾ & 

20. (A) : `²§¾tIp£ Yp hc qBH d§NV q\Wp AWy `pWp Y}hp£ Yy DNA cphs 
\o_pqeW ht¥Yp h± & 

 (R) :  q\Wp Yy `tHp^dy qeM qHgy ^§My ²¥¾v `p£ Yy Ap²¾®e¥qfH \YpcX 
Yp eZycy a}JYp²¾ ht¥Yp h± &  

I¥T I 

21. (a) hyS¾ qY§Wy JBy A¥HqmAp£ Yy AZpc E\c qHgy J}dpHpc Yc\V cphs ^Vy 

\oqWq ¥̂^ Yp qefpdrHc²¾ (eTYcf²¾) \Wp Hc} : 2 

 u =  20 cm, f =  15 cm 

Op£ 

 (b) qHgy AeWd Yc\V cphs qHgy q^¥̂  Yp \oqWq^¥̂  ^V²¾p YcgpV Yy dBr 

Eg gqXWr qeM \oHpf qHc²¾ qM§Wc ^VpG, qOg qeM q^¥̂  Yc\V Yy 

gph`Vy Eg Yy ³}Hg AWy eHcWp q^¥Yv Yy Ycq`Ap²¾ gqXW h± & 2 

22. OY~ ^pqBGq³d`  YrAp£ \§WrAp£ q`§Rr E\c qTJYrAp£ h²¾, Wp£ Eh qBH ²¾ez 
v̂Ry (\¡Yy) qeM qeHqgW h} Op£Yr h²¾, \c q²¥¾^v YrAp£ \§WrAp£ AOyhp ²¾hs Hc 

gHYrAp£ h²¾ & qHE ? OV²¾ Yr Eg qeZr Yp ²¾p` qdI} qOgYy cphs qBh \¡Yy 
Ap\Vr qJVWr qeM epZp HcYy h²¾ & 2 

23. (a) \dpgqRH Yy X±qdAp£ Yy `tHp^dy qeM H\my Yy X±qdAp£ Yr ecW~ Hc²¾ 

Yp qBH dp_ qdI} &  

(b) fqhcr IyWcp£ qe§M \±Yp h}V epdy S}¾g cqh¥Y (waste) Yy gtc§qIAW 

q²¾\Rpcy YrAp£ qHgy Y} qeZrAp£ Yr gvMr ^VpG & 2 
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24. (a) H}Br ZpW  S¥¾Uy \pVr ²¾pd qW§Ir \oqWqHqcAp HcYp h± AWy q²¾HdV 
epdr J±g A§J \Hm d|Yr h± & Yvgcr H}Br h}c ZpW  OY~ \pVr qeM 
Tt^}Br Op£Yr h±, Wp£ W±c²¾p ftcv Hc YzYr h± & ZpW  S¥¾Uy AWy Jc` 
\pVr ²¾pd H}Br \oqWqHqcAp ²¾hs HcYr h±, \c _p\ ²¾pd \oqWqHqcAp 
HcYr h± & ZpW  \pVr ²¾pd qHgy \oHpc Yr er H}Br \oqWqHqcAp ²¾hs 
HcYr h± &  AWy  Yr \NpV Hc} & 2 

Op£ 

 (b) OY~ Y} a}qJHp£  g}qTA` Hd}cpqBT AWy H±dqfA` Hd}cpqBT ²¥¾v 
qBH-qBH HcHy qg§Zy hr qHgy ^c²¾c Yr dpR E\c gpqmAp Op£Yp h±, 
Wp£ Eh dpR ²¥¾v eI} eIcp£ c¥J \oYp²¾ HcYy h²¾ & 
(i) (1) g}qTA` Hd}cpqBT AWy (2) H±dqfA` Hd}cpqBT cphs \oYp²¾ 

HrWy OpV epdy c¥Jp£ Yy ²¾p` qdI} & 
(ii)  Hr qBh a¡qJH Hpc^}q²¾H K}dV epdy \YpcXp£ qOez Hyc}qg²¾ Op£ 

\yRc}d qeM KtdVfrd h²¾ ? Ap\Vy E¨Wc Yr \tfRr Hc} & 2 

25.  qYfRZpcp AWy \oqWApecWr Zpcp Yy Ycq`Ap²¾ A¥Wc g\fR Hc} & gpTy Yyf 
Yy \pec \dp£Rp£ qeM \±Yp h}V epdr q^Od Zpcp Yy \oHpc Yp ²¾p` qdI} & 
qBg Yr ApecWr Yp ecV²¾ er Hc} & 2 

26. `²§¾tIp qeM qHgy ²¾ey O¥`y §̂My Yp qd¥J q\Wp E\c q²¾c_c HcYp h±, `pWp 
E\c q²¾c_c ²¾hs HcYp h± &  \oeph ApcyI (³d} TpqBApJop`) Yr ghpqBWp 
²¾pd qBg HX²¾ Yr \o}mWp Hc} & 2 

I¥T J 

27.  qYWy JBy qMWc Yp q²¾crIV HcHy hyS¾ qYWy JBy \of²¾p£ Yy EWc qYG : 3 

   

(a) ^rHc qeM h}V epdr \oqWqHqcAp Yp g¥WtqdW cgpqBqVH g`rHcV  
qdI} & 

^rHc 

\pVr 

H±dqfA` ApHgpqBT 
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(b) Ap\Vy E¨Wc Yr \tfRr HcYy h}By E²¾ªp£ Yy \oHpc YrAp£ \oqWqHqcApep£ Yy 

²¾p` qdI} qO²¾ªp£ qeM qBg \oqWqHqcAp ²¥¾v ecJrHqcW HrWp Op gHYp  

h± & 

28. v̂qRAp£ cphs Hpc^²¾ TpqBApHgpqBT \op\W Hc²¾ Yy qHgy Y} U¥Jp£ Yp ecV²¾ 
Hc} & gR}̀ yRp (c¥Zcp£) Yy ItdV AWy ^¥Y h}V Yy Hpc²¾ qdI} & 3 

29. qeApqIAp Hc} qH `²¾®Ir gcrc Yy hc qBH _pJ WH ApHgrO²¾ Yr Ap\vcWr 
qHez ht¥Yr h± & gpTy Iv²¾ qeM Hpc^²¾ TpqBApHgpqBT Yp Md²¾ qHez ht¥Yp h± ? 3 

30. (a) (i) qHgy g}dy²¾pqBT (\qc²¾pqdHp) AWy M§HcpHpc Ht¥Tdr Yy qeM A¥Wc 
g\fR Hc} &  

(ii)  qeApqIAp Hc} qH qHgy gHvd Yr \oa}Jfpdp qeM qHgy g}dy²¾pqBT 
²¥¾v qHez ^VpqBAp Op gHYp h± & 

(iii)  qHgy Hc¥R qdOp£Yr g}dy²¾pqBT Yy A¥Yc \±Yp h}By `k^vW (\o^d) 
Mt¥^Hr IyWc Yp H}Br qBH E\a}J qd§I} & 3 

Op£ 

 (b) dŷ d HrWy h}By qBH gcHR qMWc Yr ghpqBWp ²¾pd qHgy Hc¥R qdOp£Yy 
qg§Zy MpdH Yy Mpc~ \pgy \±Yp h}By Mt¥^Hr IyWc YrAp£ Mt¥^Hr IyWc cyIpep£ 
Yp \±Rc²¾ YcgpG & qeApqIAp Hc} qH Agr qHg Wcp£ g§Oy-hX A¥JvSy¾ 
q²¾a` Yr ghpqBWp ²¾pd qHgy q^Od-Hc¥R Yy Hpc²¾ \±Yp Mt¥^Hr IyWc 
Yr qYfp Yp q²¾c²¾p Hc gHYy hp£ & 3 

31. (a) qHgy H§M Yy q\ok` cphs g³±Y \oHpf Yy g§W c¥Jp£ qeM qeIy\V ht¥Yp  
h± & Eg c¥J Yp ²¾p` qdI} qOhmp (i) g_²¾p£ W~ qOApYp PtHYp h± AWy 
qOhmp (ii) g_ W~ KR PtHYp h± & 

 (b) qHgy qBH q\ok` cphs g³±Y \oHpf ²¥¾v e§I} e§I c¥JYpc qhgy qeM e¥TV 
W~ q\N~ g³±Y \oHpf Yy qB²¾ªp£ Aeaer c¥Jp£ ²¥¾v qHez Yt̂ pcp qBH§qS¾Ap£ 
HrWp Op gHYp h± ? Ap\Vy E¨Wc Yr \tfRr Yy dBr dy^d HrWp qM§Wc 
^VpG & 3 
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32. (a) H}Br Hpc^²¾ a¡qJH  g}qTA` ²¾pd \oqWqHqcAp Hc²¾ Wy hpqBTo}O²¾ 
`tHW HcYp h± & qBhr a¡qJH  g¥KVy gd³avqcH A±qgT Yr h~Y qeM 
443 K Wy Jc` HrWy OpV Wy H}Br Ag¥qWo\W a¡qJH ^Vp£Yp h± & 

(i)  Yr \NpV Hc} & 

(ii) E\cdr \oqWqHqcAp Yy cgpqBqVH g`rHcV qdI} AWy Yvgcr 
\oqWqHqcAp qeM g¥KVy gd³avqcH A±qgT Yr _vq`Hp Yp ecV²¾ 
Hc} & 3 

Op£ 

 (b) (i) Hpc^²¾ Yy a¡qJH AgpZpc²¾ cv\ qeM gXpBr qHE¤ ht¥Yy h²¾ ? 

 (ii)  g¥qWo\W AWy Ag¥qWo\W a¡qJHp£ Yy Ycq`Ap²¾ A¥Wc g\fR Hc} & 
Y}hp£ \oHpc Yy AOyhy a¡qJHp£ Yr g¥cM²¾p qI§M} qOhmy AVt qeM 
Hpc^²¾ \c`pVvAp£ Yr qJVWr qW¥²¾ h}ey & 3 

33. (a) qHgy Kph Yy `±Yp²¾ qeM \oMpdW Mpc \}fr gWcp£ Yr Aphpc dmr 
^VpG & OyHc M¡Xy \}fr gWc Yy Orep£ ²¥¾v 75 Ovd FcOp E\d^Z h±, 
Wp£ YvOy \}fr gWc E\c Ap\Vy W~ AJdy \}fr gWc ²¥¾v gXp²¾p£WqcW 
Hc²¾ Yy dBr qHW²¾r FcOp E\d^Z gr ? Ap\Vy E¨Wc Yr \tfRr  
Hc} & 

 (b) qHgy Aphpc dmr qeM FcOp \oeph qBH qYfp qeM hr qHE¤ ht¥Yp h± ? 3 

I¥T K 

34. (a) (i) `²¾®Ir `pYp \oOV²¾ \oVpdr Yy Eg A¥J Yp ²¾p` qdI} qOXy hyS¾ 
qdIy H¥̀  ht¥Yy h²¾ :   

 (1) A¥qTAp£ Yr \qHApBr 
 (2) A¥T AWy ftnpVt Yp q²¾fyM²¾ 
 (3) atJ`O Yp c}\V 

(ii) Hr ht¥Yp h±, OY~  

 (1) A¥T Yp q²¾fyM²¾ ht¥Yp h± ? 
 (2) A¥T Yp q²¾fyM²¾ ²¾hs ht¥Yp h± ? 3+2=5 

Op£ 
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(b) (i)  hc qBH Yp qBH-qBH EYphcV Yy Hy qeApqIAp Hc} : 

 (1) qBHqd¥Jr ³t§d 

 (2) E_aqd¥Jr (Y}qd¥Jr) ³t§d 

(ii) qYWy JBy qMWc qeM dy^d HrWy JBy A, B, C AWy D Yp ²¾p` 
qdI} &   

             

(iii)  q²¾fyM²¾ Yy q^²¾p \cpJV h} gHYp h± \c \cpJV Yy q^²¾p 
q²¾fyM²¾ ²¾hs h} gHYp h± &  qBg HX²¾ Yr Hpc²¾ gqhW \tfRr 
Hc} & 5 

35. (a) (i) H}Br \pVr qeM K}d ²¾rdy qdR`g ²¥¾v dpd Hc YzYp h± & hyS¾ qYWy 
JBy qHg K}d ²¥¾v eZycy `pWcp qeM q`dpV ²¾pd qBh \qcecW²¾ 
\dR OpByJp ?   

 (1) q²¥¾ v̂ Yp cg 

 (2) `±J²¾rqfA` hpqBTopHgpqBT 

 (3) qgcHp 

 (4) H±dqfA` gd³yR 

A 
B 

C 

D 
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(ii) hyS¾ qYWy JBy a¡qJH/a¡qJHp£ qeM~ qHhmp/qHhmy ³r²¾pd³Xyqd²¾ Yy 
K}d ²¥¾v Jtdp^r HcyJp/Hc²¾Jy ?  

(1) CH3COOH 

(2) Ca(OH)2 

(3) HCl 

(4) NaOH  

(iii) Eg J±g Yp ²¾p` qd§I} qOg Yp K}d Ipcr (^yqgH) ht¥Yp h± & 
qBg K}d Yp ²¾p`/gvWc qdI} & 

(iv) fqhY Yr `§Ir Yy T¥J Yp qBdpO Hc²¾ Yy dBr Ipcr ( ŷqgH) 
K}d Yr ecW~ HrWr Op£Yr h± & qHE ?  

(v) (1) R`pRc AWy (2) qB`dr qeM q`dV epdy A±qgT Yp ²¾p`  
qd§I} & 5 

Op£ 

(b) (i) qngRd²¾ \pVr (water of crystallisation) Yr \qc_pfp Hc} &  

(ii) qHgy AOyhy a¡qJH Yp cgpqBqVH ²¾p` AWy gvWc qdI} qOgYy AVv 
qeM qngRd²¾ \pVr E\gqXW ht¥Yp h± AWy ²¾rdp \oWrW ht¥Yp h± & 

(iii)  qec¥OH MvcV (^drqM¥J \pFTc) Yp cgpqBqVH gvWo qdI} & qBg 
²¥¾v ^²¾pV qeM h}V epdr \oqWqHqcAp Yr g¥WtqdW cgpqBqVH 
g`rHcV qdI} & qBg Yy qW¥²¾ E\a}Jp£ Yr gvMr ^VpG & 5 

36. (a) 1 m d¥̂ y AWy 2 mm2 A²¾®\ogX HpR (npg gyHf²¾) IyWc³d epdy qHgy 
Bydt`rq²¾A` Yr Wpc Yp \oqWc}Z \Wp Hc} & Bydt̀ rq²¾A` Yr q^Od 
\oqWc}ZHWp 2·63  10 8 m h± & 

 (b) hyS¾ qYWy JBy `p²¾p£ Yy AZpc I AWy V Yy qeM Jop³ ^VpG & qBh 
YcgpG qH qBh A¥Hmy G` Yy q²¾a` Yy A²¾®cv\ h± & 5 

Hc¥R I (By`q\Ac) 0·1 0·2 0·3 0·4 

\tRzfd A¥Wc V (e}dR) 1·2 2·4 3·6 4·8 
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I¥T L  

/

37. HtWt^ `r²¾pc Yy \qcgc (IyWc) qeM gqXW d}h gW¥_ (q\dc) Yp q²¾c`pV 

1600 gpd \qhdp£ h}qBAp gr & AO er qBh q^²¾p ²¾®Hgp²¾ Ap\Vy Xp£ Wy Imp 

h± AWy E\c O¥Jpd Yp H}Br q²¾fp²¾ ²¾hs h± & qBh Ycgp£Yp h± qH Eg g z̀ Yy 

\opMr²¾ _pcW Yy ZpW qeqJAp²¾rAp£ ²y¾ ZpW gtcqIAV WH²¾rHp£ ²¥¾v \vcy W}c Wy 

qeHqgW Hc²¾ Yy ²¾pd ²¾pd e§I} e§I ZpWp£ ²¥¾v gtcqIAW cIV Yr WH²¾rH er 

qeHqfW Hc dBr gr & ZpW ²¥¾v gtcqIAW cI²¾ Yy H¥̀  dBr \oqHqcApep£ qOez 

YvgcrAp£ ZpWp£ Yr \Wdr \cW MmªpVp£ (dy\²¾), q`fc ZpW ^Vp²¾p, ApqY 

cphs HrWy Op£Yy g²¾ & 

(a) ZpWp£ Yr gqnAWp dmr qeM ApqBc²¾ (d}hp) qH§Xy gqXW h± ? qBh 

\oqHcWr qeM qHg/qHhmy cv\p£ qeM q`dYp h± ? 1 

(b) _t¥OV (Roasting) AWy q²¾gWp\²¾ qeM A¥Wc g\fR Hc} & 1 

(c) ZpWp£ ²¥¾v O¥Jpd dJV/Itc²¾ W~ ^MpV Yy dBr qHgy Y} qeZrAp£ Yr 

qeApqIAp Hc} & 2 

 Op£ 

(c) cyd Yr \Rmr AWy d}hy Yy `fr²¾r \tcqOAp£ YrAp£ Ycpcp£ ²¥¾v O}m²¾ Yy 

dBr Bydv`rq²¾A` Yr ecW~ qHE¤ HrWr Op£Yr h± ? h}V epdr \oqWqHqcAp 

Yp g¥WtqdW cgpqBqVH g`rHcV qdI} & 2 
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38. O¥WvAp£ qeM q²¾a¥WoV (H¥Rc}d) AWy Wpd-`yd Yp H¥̀  W¥qWoHp AWy \qS§¾Ap£ 

(\yfrAp£) qRfv cphs HrWp Op£Yp h± & W¥qWoHp qRfv W¥qWoHp H}qfHpep£ (g±d§k) 

AcXpW q²¾avcp²¾ Yy qBH g¥JqS¾W Opd Yp ^qVAp ht¥Yp h± & `²¾®Ip£ qeM g}MVp 

qBH Jt¥PdYpc \oqHqcAp h± qOg qeM eZycy Jt¥PdYpc a¥Wc qeZr AWy W¥qWoHp 

g¥ ¥̂Z²¾ fpq`d ht¥Yy h²¾ & qBh qY`pJ qeM g¥HyYqcW ht¥Yy h²¾ O} `²¾®Ir fcrc 

Yp `t§I Wpd`yd HzYc h± & qY`pJ AWy g\pqB²¾d H}cT (`ycvcOv) HzYcr 

W¥qWoHp W¥Wc Yp q²¾c`pV HcYy h²¾ O} gcrc Yy gpcy _pJp£ W~ gvM²¾pep£ \op\W 

HcYy h²¾ AWy EgYp Wpd-`yd HcYy h²¾ &  

(a) gYq`Ap£ AWy g§Rp£ W~ qY`pJ Yr gtcqIAp qHez ht¥Yr h± ? 1 

(b) \oqWecWr Mp\ (reflex arc) qeM (i) g¥eyYr ²¾avcp²¾ (W¥qWoHH}qfHp) AWy 

(ii) \oycH W¥WoH}qfHp Yy `tI H¥` qd§I} & 1 

(c) (i) \|qgd ²¥¾v MtHVp AWy (ii) EdRr Hc²¾ (vomiting) qeM `²¾®Ir 

qY`pJ Yp qHhmp _pJ fpq`d ht¥Yp h± ? ecV²¾ Hc} qH qBh qHqcApep£ 

ge±qB§NW h²¾ Op£ q^²¾p£ qB§Np h²¾ & 2 

Op£ 

(c) HzYcr W¥qWoHp W¥Wo (Central Nervous System) eI} eI gcJc`rAp£ Yy 

dBr qHez fcrc Yy Yvgcy _pJp£ ²¥¾v g¥Mpc _yOYp h± ? qBg W¥Wo Yy Y} 

_pJp£ Yy ²¾p` qdI} & 2 
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39. OY~ qHgy `pqZA` qeM~ JtkcYr h}Br H}Br \oHpf qHc²¾ qHgy Yvgcy `pqZA` 
qeM qWcNr \oeyf HcYr h±, Wp£ Eh Ap\Vy cgWy W~ PtH Op£Yr h± & qBg 
\qcKR²¾p ²¥¾v \oHpf Yp A\ecW²¾ Hqh¥Yy h²¾ & qHgy `pqZA` Yr \oHpf ²¥¾v 
A\ecqWW Hc²¾ Yr g`c§Xp ²¥¾v EgYr \oHpfr KVWp cphs er YcgpqBAp Op 
gHYp h± & \oHpfr KVWp EgYy Yoe`p²¾ (mass) KVWp Yy ^cp^c ²¾hs h± & 
Agr qecd `pqZA`  AWy gK²¾ `pqZA`  f^Yp£ Yr ecW~ HcYy hp£ qOgYp 
Agd qeM `Wd^ Hc`epc \oHpfr qecd `pqZA`  AWy \oHpfr gK²¾ 
`pqZA`  h± & OY~ Ags qBh Hqh¥Yy hp£ qH `pqZA` A, `pqZA` B Yy 
`tHp^dy qeM gK²¾ h±, Wp£ qBg Yp AcX qBh ht¥Yp h± qH `pqZA` A Yp 
A\ecW²¾ A¥H `pqZA` B Yy A\ecW²¾ A¥H W~ qkApYp h± & qecd `pqZA` 
qeM~ \oHpf Yr Mpd gK²¾ `pqZA` qeM~ \oHpf Yr Mpd ²¾pd~ qkApYp ht¥Yr  
h± & qBg Wcp£ qecd `pqZA` W~ gK²¾ `pqZA` ed Op£Yy h}By \oHpf Yr Mpd 
h}dr h} Op£Yr h± AWy Eh Aq_d¥̂  (normal) Yy ed PtH Op£Yr h± & 

(a) qHgy `pqZA` Yy q²¾c\yI A\ecW²¾A¥H Yr \qc_pfp qdI} & 1 

(b) \pVr AWy H§M Yp q²¾c\yI A\ecW²¾A¥H `p²¾ n`epc 
3
4  AWy 

2
3  h²¾ & 

(i) qB²¾p£ Y}hp£ `pqZA` qeM~ qHg qeM \oHpf Yr Mpd eZycy h± ? 

(ii)  OyHc \oHpf Yr H}Br qHc²¾ qWcNr H§M qeM~ \pVr qeM \oeyf 
HcYr h±, Wp£ Hr qBh Aq_d¥^ Yy ed `tmyJr Op£ Aq_d¥̂  W~ Yvc 
ed `tmyJr ? 1 

(c) \pVr AWy H§M Yy q²¾c\yI A\ecW²¾A¥H n`epc 
3
4  AWy 

2
3  h²¾ & OyHc 

H§M qeM \oHpf Yr Mpd 2  108 m/s h±, Wp£ (i) \pVr qeM (ii) IdpA 
(vacuum) qeM \oHpf Yr Mpd \Wp Hc} & 2 

Op£ 

 (c) qHgy er `pqZA` qeM Tt^y qHgy ApqBWpHpc H§M Yr gd±̂  E\c 
Ap\qWW H}Br \oHpf qHc²¾ Ap\Vy Ap\ Yy g`p£Wc q²¾cJW ht¥Yr h± 
(^phc q²¾HdYr h±) &  qBg HX²¾ Yr \tfRr Yy dBr dy^d HrWp qHc²¾ 
qMWc ^VpG & 2 

 


